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Fill the reievant bubble against each question according to curriculum: Candidate Sign.
| | uestion Jir A B c D A[lB]c] o]
Analytical
Modern computers are based on the idea of: | Engine Pascaline Slide rule Mark-i
1. .
Ygl;._l‘,GQJ})_‘;Q;? tﬁl ..‘_l.'c_l u;""i Jrdeae - O O O O
Which of the following best describes the!Part of Program in Content of
2 “process”? hardware execution Utility program |ROM O O O O
‘-'4L..f;wurqﬁfcf'(prccess)f"gf_.ufuib» ,A’K{;l;?;hl, L]fATJJJj (F,fa/? rlfs_ga‘..'kg_’ Ak
in MS Excel, the r;orrect. way to write the
5 absolute address of a cell is: &A&T SASH SA1& $A1S
\:fl_ﬂgwfqﬂﬂji_mkwdr{ufdfﬁﬂw O O O O
4 Rate of change of electrical signals is: Data rate Baud Rate Bandwidth SN Ratio O O O O
. ?QL‘}M_L{C;’JL}_EJ}ZWK‘-I [y A Y P f’.’.':;l:;’ﬁ
Which of the following is half dupiexiConversation iPaying bill Radio Printing
5. transmission mode? ) on phone through ATM | broadcast photos O O O O
te bt Voo ol e o F LS e ATM | ur882dhs b e
Who has the skills to create, manipulate and | Database Database Database
5. maintain the database? user analyst Programmer |administrator O O O O
S g P i S e b SV | oS K s by AL
Batch
Which system is most suitable for payroll{processing Time sharing {Real time Muliitasking
7. generation? system system system system O O O O
et L LR T s TR s F g
Which of the following is an example ofiFibre Optic ]
g Quided media? Cable Radio Wave |Satellite Infrared
?ai:_d["?(fkﬁ_/ﬁj'ﬂfu}f;-ufo;bn (}'!..ET/:b Y A j:}’}fl O O O O
In which topology cable should be
terminated at both ends? BUS STAR ' MESH RING

9. :

?.f__d;:ﬂhf&:—&’)fu:/u;»LJJU:L;JL_;’J( e ' 1 g s O O O O
Which authentication method cannot be Username
borrowed? PIN Code Access Card |Biometric and password
10. 3 - N . '
TCC‘-!gLﬂ(bOITUWH L'J-‘:‘:\S-Jl—ﬁe:‘li/uf AP S ..J//”-':fla j}!Ji}J}’(kK\JJ'ﬂ O O O O
Attenuation problem is fixed by: Authentication | Transmission | Amplification |Distortion
q1. IR e el & A8 siilred PR O O O O
b L L Lt S Cpiganit 33 (P il o)
Which network helps to connect several
locations worldwide?

12, LAN MAN WAN PAN
?ﬁ:_(?,suufi_.ﬂu@—"ﬁl..:(plli'ﬂ)»f‘U':/’-’EJJ/A.L;‘L«U; O O O O
Making illegal copies of a software is ) . ) ]

43 commonly referred (termed) as: Hacking Cracking Privacy Piracy
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Time allowed: 2:45 Hours Total Marks Sections B and C: 42
' SECTION — B (Marks 22)
Q.2 Answer the following questions briefly. (11 x2=22) Loz Lt
(i Who is a web developer? Which programming Briefly explain different types of interfaces of
language is used for creating websites? 1+1 | ORr | Operating Systems. ) ) 144
_bﬁ.’grtlf@';@é.LLB:U"’IV%;?{_VKUJ(/;&:_?%: _g/_fa?b:ﬁfdzgﬁd}!&fﬂﬁkﬁéf
() E?{;’; rfn;(:ﬁeerj:gb of System Analyst different from & 1! oR identify the objectives of an operating system. 141
: + Ry *
?9&;{4/!/@4(“&&#(5’/ ‘q[d*bd/“h'é‘f/‘f:é"‘{'
(ilf) | Compare “Absolute address” and “Relative address” Briefly explain the term “data transmission” with
in MS Excel. 1+1 | OR | example. . 1+
_u_/,:ﬂrs‘lﬁji_lr‘:b”m“ui/Jg:,ku”u:g_}«—’nudrﬁs oy L el (TS
- : " e
{iv) How does DSL work? What is meant by a communication device? Give
et Sk s | 1| OR examples. i 1+1
‘e b ¥ LIS e e STy
{(v) | Identify the limitations of CL! interface. What will happen If the storage devices are removed
/5 Uimitations)ug sk e 2 FiCLE | 141 | OR | from @ computer? ) 2
: ST bt A e 2ud )
(vi) | Differentiate between single user and multiuser How an Auto-Calculation feature in MS Excel helps
operating systems. 1+1 | OR | the user? 1+4
SISPRT BT S g S te ISl St P e ST A
(vii) i Compare !mpact and Non-impact printers. + | or Compare Radio waves and Microwaves. )
+ 3 +
LS el A ! 6oy B s 1
{viii)| Differentiate between half duplex and full duplex Differentiate between LAN and WAN.
modes of data communication. . 1+1 | OR _ufJ)wVJ)LWANJleAN 141
A J)uy»&ﬁrurgﬁf ,,,u—_ﬂ,,;_,-;g;dé,_f 3 i B
{ix) | How Star topalogy provides a centralized control Which malware is difficult to remove from a
over data transmission in a network? 2 OR | computer and why? 141
e &SIy SRS L A G tud e Stk b e ted
(x) | Which authentication method would be suitable for Suggest the best unguided media with following
an organization to ensure the provision of highly characteristics for an organization
secure identification and verification? Justify your High bandwidth P
selection. ‘ N 1+4 | OR | [ High Transmission rate Sy odpendl F Gy || 0.5
3 hS B gf L L Fiaestnd Jo L L2 Minimum delay BER K] x4
Uﬁi{f S Bz 1 e Minimum impairments sl S e (lgasadd S
Rt it il P et S E Vi LS L L
(xi} | Write down the applications of Hybrid computers in How is Synchronous transmission mode better than
hospitals. Asynichronous mode of communication? Comment.
_u:"ﬁdt&r[_:}::;@/f’&du:’b?ﬁ 1+1 ; OR s‘q_ﬂfé;_;yf:’ujj,ﬁg_uL_-,u.»r,/;,»uﬁﬁ;,j,ﬁ 1+1
ghHA
SECTION — C (Marks 20)
Attempt the following questions. (4 x5=20) -q:&glﬁﬁaﬂﬂrigj
Q.3 | Explain the following types of system software with Describe the basic icons of Windows Operating
examples: N system.
a. Device drivers o8 il g5 o Lo BT e = B Tk
b. Utilty program Ry ui'el;\ﬁgg 2;2 OR _L[/JbJL{/:gldJ_k.ﬁr/..G,4I;:»: ix%5
c. Operating system Al K3 o ‘
NSRSV P 5 [ S P _
Q.4 | Write down the advantages of office automation What s a MODEM? Differentiate between
software. Write down the main uses of MS Word, Modulation and De-Modulation. Also draw a
MS Excel and Inpage. 243 | OR diagram to illustrate the process. 2+2
Inpage.s’MS Excel-MS Woré-ﬁgilfﬁﬁsdilrﬁﬁgf’f fdfdu_/u"}'uy.uZ.De—ModulatiorwlModuiation‘-‘{_&rgﬁ:’ *+1
N s E i LS Bl LI
Q.5 | Prove that a Wired network is better than Wireless Elaborate the term “Malicious Software”. Compare
network. 1x5 | or | VIRUS and WORM in computers. 1;2
2 4
e Al Snei U S nesiin S p L ek _q)’;;rmwu;s,u:)g{_quu,J"Jr—* "L
Q.6 | What is meant by network topclogy? Compare the Elaborate the role of Protocol in the data
advantages and limitations of most expensive and communication process. How does it manage the
the least expensive network topologies. 142 other components of data communication process? 242
»'»&"}:J.b:—)ff:’gﬁq}rmq’}ug’?Ecﬁ/l_fc-d-)’:,’;n-ﬂmé +2 OR | Draw the diagram also. 1

/i€ limitations)U 4
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I | Question i A B C D A | B c | D l
4 Slide rule {1614) was based on idea of: Logarithm Trigonometry |Sets Matrices O O O O
’ T AxfUsiaduin i~ N R o o
Main screen of MS Windows is known as: Welcome .
2. Deskiop Login Screen |{Splash Screen
"’é—t‘ftlrbrtuffdflﬁd/ﬁﬁfmﬂlr:' Screen . O O O O
By default how many tabs are there in M3
5 Word 2010 ribbons? 6 7 8 9 O O O O
gl B a2 Mg UEMS Word 2010
‘Raw facts and figures’ are better defined by:|Number Record information  |Data
4 oA oe . o O O O
?q_t’f&lﬁ:ﬂf(f")k:ulﬁmlderé"gc_u:ufﬂbu I 36 b (4
5 In the following the slowest connection is: Dial-up DSl ISDN CDMA O O O O
' st P A o e Sr it | IS JiAngs oSl s
Business Operating Utility Language
g A computer cannot be oper.ated without: softwarg system program trapslators O O O O
L U el AL ey BT L P
Batch
Which system is used to facilitate the traffic|processing Time sharing ;Real time Multitasking
7. control system? system system system system O O O O
tebudi gl e M D o (T EE R ¢ f't‘cfv - gt
Which media uses light waves for Shielded twisted Twisted pair
8. transmitting information? Fiber Optics | Coaxial Cable i pair cable cable O O O O
te bl | JE nd LU el bl | UM A =B34 i | W
Which topology is the most expensive to '
g implement? } BUS MESH STAR RING O O O O
tebra e WIS g e Y :
Which authentication method is most
10, commonly used at ATM machines? Login ID PIN Code Biometric Access Card O O O O
te b1 s od L U Ede [Tl er SH L [ e
Television and its remote controt are connected
by: Satellite GPRS Infrared Radio waves O O O O
11.
?L}jlﬂuﬁj‘ﬁg?_f_ﬁﬁfdy‘:’(_&ﬁu;lu)fsd.’. LA ufl_ffdr(j'. ,’ylj‘"l ifagha
Which network helps to connect several
4o locations across different cities? MAN LAN WAN PAN O O O O
“?Cﬁby’\_ﬁ#r‘tbyfglli’u»;u:u;fﬂc_bﬁsdﬁfdl
Which malware can be used fo record the
screenshots and keystrokes?
18 polufd L0 Sk Fe g L bed | Adware Spyware Virus Worm O O O O
?gl:'::fdb'""’f
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COMPUTER SCIENCE SSC-I

Time allowed: 2:45 Hours Total Marks Sections B and C: 42
SECTION — B (Marks 22)
Q.2  Answer the following questions briefly. (11 x 2 = 22) ...‘_[_chl_.fﬁ/"? Ll fos
® | Briefly exptain HPG and Cloud Computing. vt | or g;‘:liypl‘fsc”be Real time operating system with an "
. e o S + ’ N . . *
_U_','/r.:ﬁla}/"’ Juﬁ{‘{ulfulHPC _u://ih’gﬁdii‘_gw&sfy({fju@éf(ﬁﬁ)
(iiy i Enlist the main characteristics of 3rd generation of State the role of Anti-Virus in/@ cofiputer system,
computers. 1+1 | OR b S Bt A dd 2
e P2 A0 R SRIRSIS
(iff}) | What is meant by Conditional Formatting in MS Draw a diagram of components of a data
Excel? 2 | OR | communication model. _ 9-2
S it pi e B i L MS-EXCEL L um;znédnu’»é:f e X
(iv}) | What is meant by computer network? Enlist any two Write down any two characteristics of a good
types on the basis of spatial distance. 1+#1 | OR | communication system. 11
_.,r.‘."au:""nc;Jbe:jJJiG??_Jl/gg_J}u:—;‘Jrf _uf.”go.l:ar‘;udéfd/(b"/u&w};ui 2z
(v) | How does an operating system act as a “Resource How does Cache memory increase the processing
Manager™? 2 | or | speed of a computer system? 2
?dg_b/r{égrf-;’JJ}’iJ"Jﬁfu.ﬁ/_:Tug “9&[ﬁﬁ&;Jy&"}4d)ﬂ’Z_KJk}{JQC}JK
(vi} | Differentiate between RAM and ROM. 1+1 | oR Why is plotter preferred over printer? Give reasons. 11
. + . - . +
L5 s RAMAIROM et e et Do g gy
(vii} ; Write down any two uses of Inpage software. Compatre Infrared and Microwaves,
. g . 1+1 | OR SRR B £
,J.Joﬂbflsjadfﬁﬁsc—ﬂi/@ ot ..q_’/;)l."‘b/iiu/?b:la/lj‘l
{viii); Differentiate between attenuation and amplification. R How is Mesh Topology better than other topologies? 141
. + ; . +
/0 U Adtenuation us! Amplification 1#1.10 T AL d_/:_ 7z Jg’f:‘ficﬁ:’;;‘;fr
(ix} | Briefly explain the satellite communication media ‘Muitimodal Authentication provides highly secured
with a diagram. identification and  verification  authentication
ST L St S S e 141 | OR methoo_‘ology./. Commﬂent .. ‘ 2
S QSR TS T A 2357 S T i
g
{x} | How can a teacher view the names of only those If the baud rate is 56 Kbps and the number of bits
students in a class who obtained A+ grade? Which per signal is 2 bits. Calculate the data rate of
feature of MS Excel should be used? 2 | OR communication channel. 2
LAl PE Ll S Fes S et St L T St e 29 AT dsie. Kbpss6L 2
f : 7 Kbpsool,~
W M1 U L MS Excelfe SO
{xi}) | Suggest the best guided media with following An organization requires an interconnection
characteristics for an organization: between its two buildings in the same geographical
High bandwidth i AL area. What type of network (LAN, MAN, WAN, PAN
High Transmission rate Cury Ol 1 2 | ORr etc.) will be better and why? 141
Minimum delay Jabi S Gt 8 .':»JJ/;JJ’_:’..DUQ‘JJ Lu;;lfu@;lu: "Lllié_lf’lf’d‘._{l{f—h’ »..«_Q
Minimum impairments o oS e abaand] 3 . N
E - = U8 o fF 5P ANCW ANMANLAN) S 2br 7
ko el S S S S e LA A e e
SECTION — C (Marks 20)
Attempt the following questions. (4 x 5 = 20) el letrd s
(1.3 | What are the basic operations of a computer? Elaborate any FIVE functions of an Operating
Explain in detail with diagram. i1x5 | OR | System. 1x5
S S ST e L e YT ET AN st Y
Q.4 | How is the graphical representation of spreadsheet Compare Synchrencus and Asynchronous modes
data helpful in organizationat activities? Explain. of data transmission. Draw a diagram also. 2.5
bx Kowi koS, LSS L e sthet | XS OR - R & G St PP i P B L b 2+5
...u:/rML'o}?% )
.5 | Describe the following terms: Describe the term “Computer Architecture” in
a. Band width 4555 Sy computer networks. Write down the advantages of
b. Baud rate Sy Ay using Client-Server architecture over Peer-to-Peer
¢. Datarate )85 | | 445 | QR | architecture, 142
d. Signal to noise ratio ;:iu o g dfu: s sl S el STl 2?5:7 Jedv S s e *2
€. __Transmission Impairment e el Gyl s U_J ) /ﬁ/_ . /ﬁf”
“Q'fwusJalvUb‘hibn L AL L A e e L
Q.6 : How are Half Duplex and Full Duplex modes of Differentiate between  Authentication and
communications useful in daily life? Explain with 2 authorization, Briefly explain the authentication
suitable examples. _;5 OR methodology that can be used on mobile phones,. 342
ﬁfU—'a’ﬁJ‘fJﬁ’Jg'ﬁJQLL}iMJE‘Sa}GJJ JJF’L,/):; 25 Lil :_.'_: Jisi 4 u:; J’/l,!‘ ...QJ/J/ e L elal st JE;
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